# Farmhouse in Zebbug



#### Zebbug, Central



€1,490,000

Total Rooms: 7

Bathrooms: 1

Floor Area (m²): 2000

Reference No: 240011080-446

P☐ Bedrooms: 3

## Farmhouse - For Sale - Zebbug

Zebbug – New on the market, this charming farmhouse boasts breathtaking countryside views and a tranquil, unique setting. Upon entry, you'll find a spacious sitting room that seamlessly connects to the living area and kitchen, offering a comfortable and open flow. A corridor leads to the main bedroom, two additional bedrooms, and a family bathroom. The property also features a large, one-car garage and extensive agricultural land spanning approximately 1,600 sqm with its own private back entrance. A staircase from the yard leads to the full roof, providing further outdoor space. The property is freehold and is being sold semi-furnished, making it an ideal family home or countryside retreat. For more information and to book your viewing please contact our agent

### **Features**

Ceramic Floor

Water Utility

Electricity Utility

Garden

#### Rooms

Kitchen/Dining: 4.1 x 4 m (16.4 m2)

Living: 4.1 x 2.8 m (11.48 m2)

✓ Sitting: 4 x 6.3 m (25.2 m2)

Hallway: 4.8 x 1.5 m (7.2 m2)

Bathroom: 4.4 x 1.7 m (7.48 m2)

✓ Double Bedroom : 6.2 x 3 m (18.6 m2)

Double Bedroom : 4.6 x 2.8 m (12.88 m2)

Double Bedroom : 4.4 x 6.3 m (27.72 m2)

Garage : 6 x 4 m (24 m2)

# **Gallery**









Elton Laferla RE/MAX Premium - St Julian's

M: 79079415

E: elaferla@remax.com.mt

T: 21384508

#### **RE/MAX Premium - St Julian's**

72/73, Gorg Borg Olivier Street, St Julian's, Malta